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(b)

-

Attempt Five guestions in all, including

-

Question No. 1 which is compulsory.

Explain the term ‘active transport’ with respect to

“the working of N&/K pump in animal cells. itiustrate

diagrammatically ‘the mechanism of the working of

Na/K pump. ‘ 4

What is meant by synergic effect ? How does it account
for the formation of carbony! complexes of transition metals
in low oxidation states ? Does the synergic effect also
play a role in stren.gthening the platinum-carbon boﬁd in

Zeise’s salt, . 7 : 4
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How can it be shown that Jander's scheme of

autoionization of liquid sulphur dioxide is incorrect 7 2

What are the functions of -haemoglobin and
myoglobin ? What changes occur in the heme groups of

hemoglobin on going from deoxy-to oxy form ? 3

Give two reactions of ferrocene. Which shows it is more

reactive than benzene. 2

Exp]ain the role of calcium in protein folding

mechanism, 2

Zinc (I1) ion is considered one of.the most versatile

catalysts in biological svstems. Elaborate. 2
Explain the structure of methyl lithium. - - 2

Explain why direct nitration of ferrocenc is not
possible ? How can you get nitroderivative of

ferrocene ? 2
Why does a solution of Grignard reagent conduct
electricity ? I

Where and in what form is iron stored in the human
body ? How is it taken from the storage sites to the

sites for incorporation into haemoglobin ? 3
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(5)  Explain why the IR stretching frequency for C-O bond

in metal carbonyls decreases with increasing negative

oxidation state of metal atom. 2

() ' Give the valence electron count of the metal atom(s) for

the following : 2
0] V(CO)ﬁ _

(i} [Fe(CO)NO),]

(i) Fe,(CO),

() [Fe(n™CyH,), )"

(@)  With the help of equations explam whar happens in

any three of the following : ‘ 3
() Sulphur is treated v_vith NH,()..

(i) Phosphc;rous pentachloride is treated with SO, (1)
(fif)  Hgl, is treated with KI in liguid sulphur dioxide. |

() Reaction between ammonium iodide and bismuth

nitride in liquid ammonia.

- () Draw the struc.ture‘ of the t;ollowing o 3
) Cyclic silicate Sig0,s'> | |

(i) Coy(CO)yin hexane

{iii)  Trimetapliosphate jon,

PT.O.
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What is a chain stopping and chain building unit in

- silicone chemistry ? i

Discuss the acidic/basic behaviour of acetic acid, urea
and ammonium chloride in liquid ammonia as solvent and
compare their behaviour in water. Explain the difference,

if any, in each case. 3
Explain the role of cis platin in cancer therapy. 2

Why is the nature of n-bonding in borazine different from

(that in benzene ? How does it affect the reactivity of

3
borazine ? Give one specific example. 2

Exptain the role of Na,0,/H;0 or H,0,/NaOH reagents
in separation of Fe(OH), from AKOH), and Cr{(OH), in

group 111 of the cation analysis scheme. 2

Differentiate between coprecipitation and post-precipita-

tion by taking suitable examples. 2

Explain the concept of homogenous precipitation by

taking an example. : 2

Name the precipitating agent used in the homogenous

- precipitation of barium. 1
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